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- SECTION - A

i) General Awareness

~ Consider the followings about alluvial
soils and choose the right answer.

(A) Duars are the floodplains and
foothills of the eastern Himalayas in
North-East India around Bhutan

(B) Teraiis a belt of marshy land at the
foot of mountains at the foot of the
Himalayas in North India

(C) Both are wrong
(D) Both are right

Kofi Annan, the famous international
personality who was respected by every
corner of the world, who passed away
recently, he was a former

(A) Chairman of WTO

(B) Chairman of IMF

(C) Secretary General of UNO
(D) USA President

Black soils are predominantly found in
India in the region of

(A) West Coast
(B) East Coast
(C) Central India
(D) Deccan Trap

.

Irula tribes are associated with which
one of the following hill forest ?

(A) Kodachadri betta -
~ (B) Biligirirangana betta
(C) Annamudi

(D) Nilgiri

5. Which one of the following is not a legal

tender ?

(A) Savings Bank Account
(B) Current Account

(C) Demand Deposit

(D) All the above

Guarantees i.e., liability, on coins are
assured by

(A) RBI

(B) Supreme Court of India

(C) Finance Ministry

(D) President of India

Which one of the following is the right
explanation for Fiscal Deficit ?

(A) Difference between total expenditure
and total receipts

(B) Difference between total expenditure
and total receipts including
borrowing

(C) Difference between total expenditure
and total receipts excluding
borrowing

(D) Difference betweentotal expenditure

and total receipts excluding external
borrowing only

Which of the following Indian state in
which the endangered animal Dancing
deer or Sangai is only found in the
world ?

(A) Assam
(C) Manipur

(B) Nagaland
(D) Delhi

In the recently held ASIAD 2018, the
position ranked by India in the total
medal count is

(A) gth
(C) Bth

B) 7™
(D) gth
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12.

13.

14.

Who was first Indian to pass the Indian
Civil Service (ICS) examination during

- British India ?

(A) Subhash Chandra Bose
(B) Satyendranath Tagore
(C) R.C.Dutt

(D) Satyendranath Banerjee

Which of the following jagirdari, first to
become free and independent kingdom
from Mughal empire ?

(A) Bengal
(B) Hyderabad
(C) Awadh
(D) Maharashtra

The famous OPIUM war in 1830 fought
between

(A) British India vs Mughall

(B) British vs China
(C) British vs Afghan
(D) British vs USA

Which one of the following continents
is called as the ‘Land of Prairies’ ?

(A) Europe

(B) Australia

(C) South America
(D) North America .

The highest coffee producing state in
india is

(A) Kerala

(B) Karnataka

(C) Assam

(D) Meghalaya

15:

16.

17

18.

19

20.

0T 0 0O

Who among the following presides over
the joint session of Parliament in India ?

(A) President
(B) Vice President
(C) Speaker
(D) Prime Minister

Who is the first Dalit or Scheduled Tribe
(ST) woman Chief Minister of India ?

(A) Mamatha Banerjee
(B) Mayawati

(C) Sheila Dikshit

(D) Nandini Satpathy

In the digital banking era, what does UPI
stands for

(A) United Payment Interface
(B) Unified Payment Interface
(C) Union Payment Interface
(D) Utility Payment Interface

In the Indian Parliament, any Bill, that
become Act when it gets signed or
assented by

(A) Law Minister of India
(B) President

(C) Prime Minister

(D) Speaker

Which of the following is not a Kharif
crop in India ?

(A) Bajra (B) Barley
(C) Maize (D) Cotton
Panna tiger reserve is located in
(A) Haryana

(B) Orissa

(C) Madhya Pradesh

(D) Bihar
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fafen vra & SR Wt TEies A
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AT i o7 7

(A) FTY =i o

(B) HEATT TR

(C) AR. Hi. &

(D) TEAT Sl

ffafas 8 § wH- Sefied, g
TS H Gk BIeh T TS a4 areft
Toq ot ?

(A) ST

(B) &eUETE

(C) =fay

(D) HEwI

18300 g ohmgs s
LTI |

(A) Tofeer wra s7m g

(B) fsifest sam ="

(C) fefest sam e

(D) Tsifesr sme FwaT

Frefeafea & @ fora Terda =1 Yats A
g ST R ?

(A) Z

(B) referm

(C) =&t 3Rt

(D) I AT

G T S=IqH S IEH T &
(A) S

(B) &AICH

(C) FaH

(D) HETAH

19.

16.

K7

18.

19.

20.
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(A) Tgafd

(B) Swrsgufd

(C) T

(D) e

S 9 ohl T2 gferd A1
1 wie geaE off ?
(A) THAT ST

(B) HMETEd!

(C) Sftem <ifera

(D) Hfet Tyt

fesfrem sifebm g #, UPI = o 2
(A) IATZE YT TEHE

(B) IF®TES W TeTh

(C) ITA Y 3eTHE

(D) FIferdt vte erhu

IR Bge o, 18 fauwes aa srffag
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(A) ¥Ra o fafer i

(B) Tl

(C) wurT

(D) ¥Rt

F=fafas 4 S9-4 9@ 3 s wflw
HOA TR 2 7
(A) SN
(C) Ha=HhT

ST ST

(B) st
(D) =dTE

AT ST EOT & T fea? |
(A) efEmm

(B) =ifszm

(C) HEI e

(D) feem
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22.

23.

24.

25.

26.
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ii) General Intelligence and Reasoning Ability

Clock is to second as calendar is to
(A) Years (B) Months
(C) Days (D) Weeks

Choose the number which is similar to
the numbers 363, 489, 579.

(A) 562 (B) 471
(C) 382 (D) 281

Find the missing numberin the sequence

5 10 , 26
4" 9° 25
17 19
2 B) —
) 16 (B) 20
18 20
=i D ==
© 17 () 21

Find out the missing terms in
b_b_bb_b_bbabbb_.

(A (B) abaaa
(C (D) bbabb

) aaabb
) ababb
If METHOD is written as LFSINE, then
DEPQT can be written as

(A) EFQPU (B) CFOPS

(C) CDOPS (D) EDQPU

Pointing to a photograph Suraj said, “His
daughter Shubha is grand daughter of
my mother”. Whose photograph was it ?

(A) Suraj's brother
(B) Suraj’s son

(C) Suraj's uncle
(D) Suraj's nephew

21

28.

29.

30.

Facing towards north, Gopal walks
20 meters, he turns left and walks
40 meters, he again turns left and walks
20 meters, then he turns right and
walks 20 meters. How far is he from his
original position ? _
(A) 830m

(C) 45m

(B) 40m
(D) 60m

English, French and Hindi can be
represented by

(A) @o

Inthe givenfigure, the triangle represents
girls, the square represents sports
persons and the circle represents
coaches. The portion in the figure which
represents girls who are sporis person
but not coaches is

(A) a
(C) c

Aruna ranks 1211 in a class of 46. What
will be her rank from the last ?

(A) 33 (B) 34
(C) 35 (D) 37
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ii) WO Flga qen qifhes Fgan

Tt T Tohe U IE GY & S Feiel H
qe |

(A) =¥ (B) HrE

(C) fe (D) HtE

T G FHT ST Gt 863, 489, 579
% 2

(A) 562 (B) 471
(C) 382 (D) 281
B %, g,?,gﬁfﬁmwaﬁl
® 1 ®
© 2 © =

b_b_bb_b_bbabbb_ ¥ T & ITd . |

(A) aaabb (B) abaaa

(C) ababb (D) bbabb

Ife METHOD &I LFSINE fo@rsian e, @
DEPOT & F&q T forar s |
(A) EFQPU (B) CFOPS

(C) CDOPS (D) EDQPU

U Tet ol 3TN 39 A BC G A Fa

"5t Tt Y1 B s 1 et 271 9
IEERETCak

(A) S & 9§

(B) H T

(C) ¥ ok ==l

(D) S WSt

27,

28.

295

30.

IR T SR G e NI 20 Hiet <A &,

TR =ife gedt & 3R 40 Tt 9o & | 98 3
ST T © ST 20 Hie <Al & o 3T g
20 HiR =2 | 98 A e ferfa @ fera
HR?

(A) 307 (B) 40 .

(C) 454 (D) 60 4.

S0, B 3T &) RIS
ST HFAT B |

0L

® (©

© O

© OO0

faw e e 8, B iR, ol et oin
T TIR1ETehI I ST & | T8 RT3 Sl
T ST & 57 el S W uREsn =i R |

(A) a
©) c

(B) b
(D) d

JTEOT T 46 ST <h1 e | 12 T T R |
3T 37 T T FA1 2 ¢
(A) 33 (B) 34
() 35 (D) 37
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31.

32.

33.

34,

35.

Which two months in a year have the
same calendar ?

(A) June, October

(B) Avril, November

(C) April, July

(D) October, December

FI4KB59#DR2#7MG%HVT 3
8= 1 JA. Which of the following is exactly
in the middle between the fifth from the
left and the ninth from the right ?

(A) # (B) 2
) 7 (D) R

If —» means +, « means —, T means =,
| means x and [ means =, then which
of the following is correct ?

(A) 2v5¢6—>206
(B) 5>7«3%204
(C) 3V6T253«605

(D)763T6¢1D4

Five boys took part in a race. Ram
finished before Mohan but behind Gopal.

Akshay finished before Shailesh but

behind Mohan. Who won the race ?
(A) Ram (B) Gopal
(C) Mohan (D) Akshay

Fill in the blanks :

14 31 17
(A) 5 (B) 2
(C) 8 (D) 11

36.

37.

38.

39.

40.

A0 0O

There are 36 cows in a herd, 20 are
white and 28 are brown. How many
have both the colours ?

(A) 12 (B) 10
(C) 16 (D) 14
Statements :

Some tables are TV’s.
Some TV’s are radios.
Conclusions :
I. Some tables are radios.
Il. Some radios are tables.
Ill. All radios are TV’s.
IV. All TV's are tables.

Which of the following conclusion
follows ?

(A) All follow

(B) Only IV follows

(C) Only Il and IV follows
(D) None follows

In a certain code, ‘526" means ‘sky is
blue’, ‘24’ means ‘blue colour and ‘436’
means ‘colour is fun’. Which digit in that
language means ‘fun’ ?

(A) 2 (B) 3
(C) 4 (D) 5

Complete the analogy.

TALK : YFHG : : MIND : ?
(A) BRNJZ
(B) RMNQ
(C) QMRH
(D) QMHR

Choose the number different from the
rest. ;

(A) 144
(C) 196

(B) 168
(D) 256
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31.

32.

33.

34.

35.

-8 3l UTE 1 Uk 98 H U ST Shotet
gaTe ¢

(A) ST, TS

(B) 1Y, FF=T

C) 3T, it

(D) 3R, few

FIAKB59#DR2#7MG%HVT
38+1JA Fafafaa § @ w-a sfe @
Ired 37T 2fe B e % Sk s 1 By ¢
(A) # (B) 2.
C) 7 (D) R

Afe — w1 AL +, « w1 o —, T =7 o7
+8, Larad x RO ot = 2, @
Feakifaa 4 @ wH-T g @ 7

(A) 2{5«6->206

B) 557« 37204

(C) 361253« 605

(D) 7«3T6l 104

Ul TS U ais § feem oid & | U Hied
Y & FHT L AT € TG T F 1S
TSI | & iy | Tg g Hie
g T & | A forem St ?

(A) T (B) A
(C) @A (D) s7e™
el T W |

(A) 5 (B) 2
(C) 8 (D) 11

36.

37.

38.

39.

40.
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T uE H 36 T @ | ford @ 20 w1 3k
28 Y 8 | foraft et T <1 8 7

A) 12 (B) 10

(C) 16 (D) 14

hId
EERECiE
o et ifeai & |
foreard

| oA R |

Il F3feTia= 2 |

. |t et e € |

Iv. @sft fftas 2 |
Amfciias H 8 Ao FHep s a2 ?
(A) |t STFET HTd B
(B) Haet IV THTT el
(C) e Il 3T IV a0 i &
(D) IS TFET e Fd B
U % °, 526" 1 31 R arep e g,
‘24" 1 34 ® e U 3R 436 w1 31
RO | form of w1 3g wrwr # o

TSI BT 7

(A) 2 B) 3
C) 4 (D) 5
FHETAT 01 . |

TALK : YFHG : : MIND : ?
(A) RNJZ

(B) RMNQ

(C) QMRH

(D) QMHR

=01 | e e g |

(A) 144 (B) 168
(C) 196 (D) 256
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41.

42.

43.

44.

45.
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iif) Arithmetical and Numerical Ability

In a group of 65 people, 40 like Cricket,
10 like both Hockey and Cricket. How
many like Cricket only and not Hockey ?

(A) 40
(B) 35
(C) 30
(D) None of these

In the product of two numbers is 720 and
their LCM is 120, then their HCF is

(A) 24 (B) 6
(C) 8 (D) 10

A and B together can do a piece of job

1
in 24 days. B alone does its 5 partin

12 days. How long does A alone does
the job 7

(A) 64 days (B) 48 days
(C) 36 days (D) 72 days
=
Value of (E‘ﬂ A is
29

125 216
A — B) —
®) 216 ®) 125
(C) 2—2 (D) None of these

Two numbers are in the ratio 4 : 5 and
if 24 is subtracted from each of them,
the resulting numbers are in the ratio
2 : 3 then, the numbers are

(A) 24, 30 (B) 48,60

(C) 40, 50 (D) None of these

e

406.

47.

48.

49.

50.

91

The present ages of two sisters are in
the ratio 6 : 7. If 5 years ago their ages
were in the ratio 5 : 6, find their present
age (in years).
(A) 36,42
(C) 30,35

(B) 60,70
(D) 24,28

In how many years will a sum of money
double itself at 10% per annum simple
interest ?

(A) 6 years
(C) 10 years

(B) 5 years
(D) None of these

If the average age of 10 students in a
class is 11 years, the sum of their ages
is (in years)
(A) 100
(C) 11

(B) 110
(D) None of these

If the price of pair of shoes was
decreased by 20% to Rs. 410, then the
original price of shoes is

(A) Rs. 500
(B) Rs. 450
(C) Rs.512.50
(D) Rs. 500.50

The cost of an article is Rs. 80. If the
profit of Rs. 20 is made by selling the
article, the profit percentage is

(A) 15 (B) 25

(C) 30 (D) None of these
lfa+b:a-b=7:3,thena:bis
(A) 2:5

B) 5:2

(C) 7:3

(D) None of these
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iii) STERTTIUTA Ul TeaTeeh It

65 ST o T 1, 40 %! fsehe T8 2,
10 o1 BTehl 3N fepoke 21 vog @ | Foraat
%! shadl fohehe THE @ 3T B! 72 ?
(A) 40

(B) 35

(C) 30

(D) FH & i3 e

¢ 31 3Th1 1 UG 720 B 3N STHT
LCM 120 %, 39T HCF 2

(A) 24 (B) 6

(C) 8 (D) 10

A 31 B foret &l &Y 24 ot o firerat o
Hohd o | B 3ToheT 12 fa=i 1 35eht %ﬂmm

gHdT 8 | A 3Tehell 39 o =1 s feai g
o G 7

(A) 64 T (B) 48 T
(C) 36 faa (D) 72 f&=
-3
[%J éaﬁrrrm‘%
125 216
(A) 516 (B) I8
©) %g (D) T A T
Bl T T AU 4 : 57 iR AR 3 |
eleh T o 24 T2 TSI a1 URoT gt
%1 UG 2 : 3 BN, A et &
(A) 24,30 (B) 48,60
(©) 40,50 (D) T4 9 g 7=

A1-

46.

47.

48.

49.

50.

a1,

AT & ohl I AT S ST 6 : 7R |
Afe 5 9% Y geh 1Y 1 ST 5 : 6 9T,

ol IEhT AU 3 T i (FuT H) |
(A) 36,42 (B) 60,70

(C) 30,35 (D) 24, 28

- 10% wf = % e s O R 9t
4 U U T 1 g S A ?

(A) 6ay (B) 599

(C) 10ad (D) 378 O IS e
It Tk e | 10 faenfelat it oftwa amg
11 99 8, @1 3T 371 1 A1 2 (I6T H)
(A) 100 (B) 110

(C) 11 (D) T H S TE
T SISl [l &1 9o 20% T &. 410
T8 TR Y [l T el Jod &

(A) ®. 500

(B) %. 450

(C) %.512.50

(D) %.500.50

T SR FI AT, 80 ® | Af A% il k=
g %, 20 1 A BT ©, 1 9 T &
(A) 15 (B) 25

(C) 30 (D) 37 @ g e

Jgea+b:a-b=7:3da:bs
(A) 25
(B), 532
(C) 7:3

(D) Eﬁﬁﬁéq‘é’f
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52.

53.

54.

53.

Two persons are walking at the rate of
1 =]
65 km and 57 km an hour start from

the same point in the same direction. In
how many hours the distance between
them will be 3.5 km ?

(A) 4 hrs. (B) 8.5 hrs.

(C) 12 hrs. (D) 2 hrs.

If 10 men or 15 women or 20 children
can do a piece of work in 30 days. How
long will a man, a woman and a child
take to do the same work ?

1900

(A) 13 days
= 1800d .
B =g

(C) 175 days
(D) None of these

Which among the following is not a

rational number ?
(A) O
(B) -3

10

© 35

py 22

SR

Find the area of a quadrant of a circle
whose circumference is 22 cm.

(A) 80 sg. units

(B) Zéz sq. units

(C) Z‘?sq. units

(D) None of these

A 0 0 R

1
B6. If X= , then X+——
_\/-

(A) 3++2
=2

24— B+[2

(©) 7

(D) None of these

57. The minute hand of a clock advances
at the rate of 7° per minute. How many
minutes the clock gains in one hour ?

(A) 15 mins. (B) 8 mins.

(C) 10 mins. (D) None of these
58. |f2X+Y=22X-Y = /g thenthe respective

values of x and y are

(A) 1

1 B) 1 >

(C) (D) None of these

d
2

1

59. The recurring decimal 2.777 ... canbe
expressed as

24 22
® 5 ®
26 25
© S )

60. If A, B, C started a business by
investing Rs. 1,26,000, Rs. 84,000 and
Rs. 2,10,000. if at the end of the year
profit is Rs. 2,42,000 then the share of
person A Is
(A) Rs.48,400 (B) Rs. 72,000

(C) Rs.1,21,000 (D) Rs. 72,600

=12~
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52.

53.

54.

95.

@ = 65 Fal. o 51 Fel. s
21 1 Tid ¥ U 2 fog & ok A o
< Y& A 2| fohaa wet 4 39 sfter <
g0 3.5 T, g1 st 7

(A) 4% (B) 3.5%

(C) 12%2 (D) 2%

afd 10 TRMEAT A1 15 37 41 20 o7 T
%1 30 Al ® ot Tad 2, W T ofreHl,
e 3T 371 U =1 1 92l v i o
foRaeT T & 7

® 20
13

(C) 175TH
(D) T4 ¥ LS 7
Fafefas o 8 S v vt gen i ?

(A) 0
(B) -3

(C)

—
o

|\:|§| |

(D)

Teh Il oh =IqAIST T S T S8k
i 22 9.1 2 |

(A) 80 ST

(B) g‘a”f%ﬂﬁ

©) =g

(D) T A T

13-

56.

57

58.

99.

60.

MKG-XI/TECHPHAH/1T/05

1

s

1
afg x=—
=

(A) 3+42
(B) 3-+2
(C) 24642

7
(D) ¥4 ¥ I3 &l

Sl e 1 & 7° vfd e s et
B | TR EeH 9 fohaa e s e st 2
(A) 15 fie (B) 8fwae

(C) 10fiFe (D) T 9 HIE Tl

gfg 2X+Y = 22X-y = /8 A x Iy H AR
FO: 8

1 1
(A) 5'1 (B) 1’5
© 5 (D) il & =S T
2.777. .. 3AEd] eIHAS
o B9 T 29T ST Sl 2
24 22
(A) T (B) =
26 25
€ 0 3

Ife A, B, C, %.1,26,000, %.84,000 3R
%. 2,10,000 1 31 &Hteh T HRIER %
Fd 8| I auia B A9 %, 2,42,000' 2, 41
A T 9T R

(A) %.48400 (B) %. 72,000

(C) %.1,21,000 (D) %.72,600
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iv) Hindi Language and Comprehension

et wrw e Ay
61. T+ 33 = ‘Tz’ F@wmE Al g ? 68. IH U Y5 AT B
(A) ﬁﬂ'ﬁgﬁl (A) Har 3 forame o |
B) TTEH (B) i feam wet |
(C) = H (C) HarI R a2 |
(D) 1 (D) Tiar Y feams ger Nt |
62. TMHTU = MY T AT EAER Y | o T G @R 39 ST S e B R
i) e (A) TH GHT @l 2 |
(B) HA=uHivTd gH™
Tl (B) TH & WM @Rl SR |
(C) T3 E@HI @R |
D) dcgey THE
) (D) TH G @R |
63. ‘dlsl vee 1 Sl w92 _
© dd (o) e LT
(A) femior
64. U Ise FT AIGATHS ST H EU B ®) 3@ .
(A) =T (B) o :
C
(C) = (D) I ET
(D) T=T
> (:m%ﬁ??ﬁ;@tamagamﬁ 71. Trfafaa wreai &1 Srgert ferfigu |
(B) TAITAE | (1) (3)
(C) <t 3reft € | 1, g 3. gew
(D) o IR | 2. TIA A W
66. T3 I | 3. Sifes . WM
(NREE] (B) s=d 4. 3TEH 3 9« |
(C) TER (D) HIs (A) 1-31,2-3,3-%,4-3
67. 38 fasior yree @ (B) 1-%,2-%,3=%, 431
(A) T (B) T (C) 1-3,2-%,3-3, 437
©) 2 (D) =81 (D) 1-%,2-3,3-31,4-3

1A
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72,

73.

74.

Freifafaa geradt &1 el & @ wifed |
(1) (@)

1. FES TG . FECRMT

2. IR H AT M. FFRI @HT

3. ®Al AHI 3. TR %E 4
A

4. 3R @HT 3. O & WU
gt g1

(A) 1-3,2-%,3-3T,4-3
(B) 1-%,2-%,3-31,4—3N
(@) 1o o=, 8-2 4=
(D) 131,28, 3—3i,4—%

THefeTRad sreat & eafaat o arer Siifed |
() (@)

1. ™ 1. TafmEd 2

2. HiHeaf . Wl ®

3. ‘ﬁﬁ&:“ = W%

4, A 3 dar?

(A): 1—3T1,2—-91, 3% 4%
B) 1-31,2-3,3-31,4-3
(C) 1-3,2-31,3-31,4-3%
(D)3 —%2=%, 33 4 -0

St frelt 3 SR 1 AR R, @
__ _Fmi|

(A) FA

(B) $ad

(C) e

(D) AU

-15-
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76.

7l

78.

79.

80.
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W 3 AV R S AR | 36 e d
TEiferd e HHT: T THA &

(A) =M I, Fdl Hh, T HIH
(B) hLUI T, Tl I, FH R
(C) =l ek, 0T e, HH HIH
(D) el T, FHH HIH, HI FHIH

=0 Sumeles R R

(A) =Heart (B) <hedl

(C) | (D) @I

S A HHTRT Tl 1 AT
(A) THEEqIR | (B) THARM |
(C) WAST| (D) WATEIR |
samifedid _ FwEad |
(A) =Tem (B) Far™
(C) =i|3 (D) ST
SYF T H T TR 7

(A) IR (B) &H™

(C) Fexd (D) 3uEr

Fafafad @ s & wedl &1 % 9 %
yIsal o T1Y Sl |

(1) @)
1. el H. TR
2. st ® AT HIHAT
3. I=iH o |
4. 2 H 3. T

(A) 1-%,2-%,3-37, 43T
(B) 1-3,2-37,3-H,4-3
(€) 1-21,2-%,8~3, 43
(D) 1-31,2-%,3-37,4-3
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81.

82.

A 0000 0 OO 0

v) English Language and Comprehension
ST AT SR

Change the tense of the following sentences :

The boys are playing hockey.
(Change into Present perfect)

(A) The boys play hockey

(B) The boys are played hockey
(C) The boys have played hockey
(D) The boy played hockey

The college will open on 23 June.
(Change it into Simple present)

(A) The college opens on 23" June
(B) The college is opening on 23" June
(C) The college has opened on 23 June
(D) The college open on 23 June

Use correct preposition and fill in the blanks :

83.

84.

85.

his children, there were
T ;
present his nephews and nieces.

(A) Beside

(B) Besides
(C) Inspite of
(D) By

Suresh went there
(A) by
(B) in
(C) on
(D) at

my bike.

We stay foot.
(A) on
(B) by
(C) with

(D) of

Use

86.

87.

88.

Select the

the correct forms of verbs :

| here for the last two hours.
(A) am waiting

(B) have been waiting

(C) was waiting

(D)

Basanti
visitors came.

(A) have finished
(B) finished

(C) had finished
(D) has finished

has been waiting

cooking when the

They will come if you
(A) will invite them
(B) invite them

(C) invites them

(D) none of the above

sentence which is grammatically

wrong :

89.

90.

-16-

(A)

Neither you nor Ram, seems to be
capable of doing this

| shall call you when the dinner will
be ready

| went to Mumbai recently
| shall write to him

(B)

(&)
(D)

(A)

Gulliver's Travels’ is an interesting
book.

One of my relatives have settledown
in Canada

I shall have taken my bath by then
It was raining when we went out

(B)

(€)
(D)
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Complete the sentences using correct options :

91. Not only had he many friends
(A) but several enemies too
(B) but also several enemies
(C) yet several enemies
(D) still several enemies

92. He istoo weak
(A) that he is not walking
(B) he can’t walk
(C) that he can’t walk
(D) that he couldn’'t walk

Use correct question tag for the following :

93. Let's take the next bus
(A) shall we ?
(B) dowe ?
(C) won'twe ?
(D) can'twe ?

94. He never goes out with his dog
(A) isntit?
(B) does he ?
(C) doesn’the ?
(D) won'the ?

Use correct expression to fill in the blanks :

95. His master
' of his conduct.

(A) called out
(C) called for

(B) called up

96. The fire
(A) gave off
(B) given out
(C) get out of
(D) fallen through

an explanation

(D) called down

a dense smoke.

17-

9r:

98.

99.

100.
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Combine the sentences by making use of a
participle :

The magician took pity on the mouse.

He turned it into a cat.

(A) The magician took pity on the
mouse and turned it into a cat

(B) Magician turned the mouse into a
cat because he took pity on it

(C) Taking pity on the mouse, the
magician turned it into a cat
(D) None of the above

The train was ready to leave the station.

The people had taken their seats.

(A) The people having taken their
seats, the train was ready to leave
the station

(B) The train was ready to leave the
station as the people had taken
their seats

(C) The train was ready to leave the
station since the people had taken
their seats -

(D) None of the above

Select the lettered pair that best expresses a
relationship similar to the one expressed in the
original pair :

PRIDE : LIONS

(A) gaggle : geese
(B) honour : thieves
(C) snarl : wolves

(D) arrogance : kings

ANNOTATE : TEXT

(A) enact: law

(B) prescribe : medication
(C) caption : photograph
(D) abridge : novel
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101.

102.

1083.

104.

105.

000 0O

SECTION -B
Post Specific Subject — Related Questions

The fundamental rule for class VI
medicine preparation is contained in
Hahnemann’s Materia Medica Pura,
under which drug ?

(A) Arsenicum album

(B)

(C) Petroleum
(D)

Squilla

Sulphur

HPUS prescribed uniform standard

drug strength of _ for majority
of medicinal preparations.
(A) 1/100 (B)y 1/2
(C) 110 (D) 1/9

Triturate is converted to liquid after
(A) 1X
(B) 3X
(C) BX
(D) 12X

Number of succussions given to prepare
LM potency

(A) 10
(C) 100

(B) 12
(D) 200

Liniment is prepared using
as the vehicle.

(A) Water

(B) Olive oil
(C) Vaseline
(D) Glycerine

106.

107.

108.

109.

110.

Decimal scale was introduced by
(A) Hahnemann

(B) Hering

(C) Kent

(D) Korsakoff

Extraction of gummy and mucilaginous
substances are done using

(A) Maceration

(B) Percolation

(C) Both (A) and (B)
(D) None of the above

Drug : vehicle ratio in class Il of
Hahnemannian preparation is

(A) 1:1 (B) 1:9
(C) 1:5 (D) 3:2

Mercurial preparations are triturated
using mortar and pestle.

(A) Wooden
(B) Glass
(C) Agate

(D) Porcelain

Fusion method is used in the
preparation of

(A) Opodeldocs

(B) Ointments

(C) Lotions

(D) Fomentations
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101.

102.

103.

104.

105.

-9
ez R e - g

= VIl S S % fore qervg Fem
&4 o At Afswt = # g fiwfy
% ara g ?

(A) SATEREHT Tead

(B) Teaean

(C) Ui

(D) HEH

HPUS 3 stferentst sTisfer st a9 & feru
=l THH g i vfdw
ffdse 1 2
(A) 1/100
(C) 1/10

TRER & 918 e § ®Tand
| ST 21

(A) 1X
(B) 3X
(C) 6X
(D) 12X

LM Fret G h & fore R st <
T R
(A) 10
(C) 100 (D) 200

S| ] ITE & B H TH
& I for St 2

(A) S

(B) St 1 det
(C) Tt
(D) feat=

B) 1/2
(D) 1/9

(B) 12
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106.

107.

108.

(C) 1:5

109.

110.
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SIS I
(A) =
(B) e
(C) e

(D) Fglhi®

foated ot forafe waef=nt
& WRINT GRT qeeh fore ST 2|

(A) Tzm

(B) 3Td:&av

(C) (A) 3R (B) I
(D) 3IWer § @ IS T

T |1 % SRR oty fiyw | ofiufy
CIEACERIGES
(A) 1:1

ERARSIRIRIE I

B) 1:9
(D)3

TR e o foetere 1y
e HEM 01 518 S &
(A) ThRel

k3

(B) ==

(C) TATHI Teer
(D) = firgh

oA A s S e R
(N RIESSED

(B) wLeH

(C) wteH

(D) &=
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112.

113.

114.

115:

“Medicaments a la goutte” refers to
(A) Centesimal scale

(B) Fifty millesimal scale

(C) Both (A) and (B)

(D) None of the above

To use tincture prepared according
to class one and two as external
applications, it should be mixed with
ethyl alcohol in the ratio of

(A) 1:1 B) 1:5
) 1:15 (D) 1:2

In prescription, ‘Omn. man’ denotes
(A)
{B)
(C)
(D)

Every day
Every hour
Every morning

Every night

Subject that deals with route of
administration of medications is known as

(A) Pharmacopraxy
(B) Pharmacopollaxy
(C) Pharmacophilia

(D) Pharmaconomy

‘Phytum’ is the synonym for
(A) Python

(B) Phytolacca

(C) Placebo

(D) Lactose

-20-

116.

17

118.

119.

120.

0 0O OO0 0

Advice to the patient regérding dietand
regimen is mentioned in which part of
prescription ?

(A) Superscription
(B) Subscription
(C) Signature
(D) Inscription

The term ‘Posology’ originated from
which language ?

(A) Greek
(C) Roman

(B) Latin
(D) Arabic

The concept of Doctrine of Signature
was coined by |

(A) Hahnemann
(B) Kent
(C) Hippocratus

(D) Paracelsus

The strength of dispensing alcohol
recommended by HPI is %e.

(A) 100 (B) 95
(C) 90 (D) 88

Who among the following require lower
potency ?

(A) Persons with sedentary occupations
(B) Those with intellectual work

(C) Jealous and impulsive

! (D) Personswhosleep little =~

|
i
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142.

113.

114.

115.

Afepdc AT M. FEend 2|
(A) TR T

B) = frefifems o

(C) (A) 3R (B) ST

(D) UL H B hIg el

STl SR =g 31 T 3R < & 3HFER
Jgr fu U iR =t SR S % o
= 3UTEA ACHIEA F °1Y

o STgTa § e st =nfe

(A 1 (B) 1:5

(C) 1:15 (D) 12

st ‘Omn. man'’ giian 2

(A) 9fafea

(B) fd =ren

(C) ufe uma:

(D) i T

o 11 siafirertor & swmi<ga o 7m 9
et & _ el &l

(A) THTHGRIIEE!

(B) THshITICIaR!

(C) wHehIRT

(D) HIHHHATH

HIZH EARRIDCIC R

(A) TR

(B) &I

(C) wrNfiEs sty

(D) <
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120.
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TS ! IS 31 924 o 999§ G

fordati o ferm sy i 3feetfian w2 7
(A) Suftfefusto

(B) HAeIferieRton

(C) =&

(D) ShIH

31s8 “Treleitsl foh T & S gen @ 7
(A) T (B) e

(C) T (D) 3Rfeh

BETe % forgia 3t HeheuHl

LGRS IRIE]

(A) T

(B) %2

(C) Trdshed,

(D) e,

HPI ST ST STeshiget farator sl Tk
? %I

(A) 100 (B) 95

(C) 90 (D) 88
frfefaa § @ fed e am= 1
HETIHAT S 7

(A) Ik 43 TEa™ HaEE | {ow
e

(B) sfgeh Hriatet =fa
(C) et 3R ATaRficd
(D) =W FHATR AT
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121.

122,

123.

124.

1295:

A Homoeopathic simillimum may notbe | 126. On what does the relatidnship of drugs

required in cases of to disease rest ?
(A) Vital force derangement (A) Totality
(B) Idiosyncrasy (B) Susceptibility
(C) Indisposition (C) Indisposition
(D) Hypochondriac individual (D) Immunity

The maladies that deserve topical | 127. Hahnemann’'s modifications in the

application are more or less of recent process of potentization of drug
origin and produced solely by substances and simultaneously in
(A) Suppression the principle of dosage were first

described in the edition of

(B) External lesion

: the Organon.
(C) Internal lesion
: (A) 6
(D) Vital force derangement
(B) ond
_______symptoms are adescription (C) 5N
by the patient of his feeling as they (D) 3
appear to him.
(A) Physical (B) Objective 128. The appetiteof _______is unnatural.
(C) Mental (D) Subjective (A) Sycosis
(B) Pseudo-Psora
The Adjuvant is a ©) Psora
(A) Supporting medium (D) Syphilis
(B) Venhicle
(C) Main medium 129. symptoms are those

which vary with the individual and are

D) Complement
©) i not essentially pathognomonic of the

is the most contagious of disease, but always of the individual
all chronic diseases. patient.
(A) Sycosis (A) Contingent
(B) Pseudo-Psora (B) General
(C) Psora (C) Functional
(D) Syphilitic (D) Objective

-22-
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122.

128,

124.

125.

LERI R IREN eIttt S
a1 Fifesd 78l g |
(A) FEET 9 TEsE
(B) &d
(C) STl
(D) Tyt wge
d T o amfies g g =y
d AN B & § 30§ AR AFA
TR 3 2 |
(A) Ted
(B) e &fid
(C) 3Tafie &rfy
(D) HEEUl o TSEE!
LTI HOS GRT 379 ATET
o1 Uk ST @ S d 3 Ui B |
(A) sifaes (B) IS
(C) T=faH (D) =fFifss
HeH T 2
(A) HETEH HTEAH
(B) dre
(C) T&u HreaH
(D) AL
gsft Srefentfores T & waife
g © |
(A) TEHIEE
(B) gSI-HI
(C) |
(D) Tafeferfes

126.

127.

128.

129.
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sitafedt @ Ol w1 weg frw W R
BT 7

(A) Eofa

(B) TEUIEHT

(C) =TT

(D) T ufeierss

ST geet o wfEnelt W i
§ EEA 1 gREd o7 e e
o Tsia o off aiEda 1 9vie Teet IR
T e A fomT |
(A) Ba31
(B) <HU
(C) e
(D) dtEx

=1 9@ AT 2 |

_ eI 9 2 o AfeRd & 91
F3Ad & ST ST F9 8 T 1 feiwar
e 2 stfug Uit sFfrr 1 2

(A) STERfETH

(B) "M

(C) FMTHS

(D) FEfra
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130.

131.

132.

133.

134.

is an obstacle to cure.
(A) Exciting cause
(B) Maintaining cause
(C) Both (A) and (B)
(D) None of the above

Potentization helps reveal peculiar
properties of a drug.

(A) Vital
(B) Individualistic
(C) Toxic
(D) Complimentary

In which among the following aphorisms,
Hahnemann describes about vital
force ?

(A) 1
B) 9
(C) 62
(D) 105

Who wrote introduction to Wiliam
Boericke's translation of 6t edition of
Organon of Medicine ?

(A) Mahendra Singh
(B) James Krauss
(C) Pierre Schmidt
(D) J.T.Kent

“Living Barometer” is a title for
(A) Pseudo-Psora

(B) Syphilitic

(C) Psora

(D) Sycosis

135.

136.

137.

138.

139.

0 0 O OO O

Inacute diseases, the
symptoms, together with the disease,
leave the system as soon as they have
run through their regular course.

(A) Local

(B) Alternating
(C) Peculiar

(D) Characteristic

The first edition of Organon was
published in

(A) 1811
(B) 1812
(C) 1813
(D) 1810

is a very vital member for
“Controlled, double blind therapeutic
and proving trials”.
(A) Vital force
(B) Remedy
(C) Placebo
(D) Medicine

The first part of Materia Medica Pura
was published in

(A) 1810
(C) 1811

(B) 1812
(D) 1813

Itis the
the individual parts.

(A) Individual
(B) Vital organ
(C) Mind

(D) Physicals

that is sick and not
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130.

131.

132.

133.

134.

Femd amn 2 |
(A) JEIeh BT

(B) SR <hT SFFT&I0T

(C) (A) =R (B)3HI

(D) 39U H§ 9 Fis 78

SAISfEr <61 SrfercerTet! ST O Sff i
fafyrse forsTSTatt =6 3eHTed
HAT R |

(A) FEergl

(B) =AfFma

(C) farset

(D) AITH

et 8 fore g A 2m A wee o
% &R 1 0 T T & 7

(A) 1

(B) 9

(C) 62

(D) 105

AT 377 AfefEm o w5 dwmo & fAfemy
STk o STHATE T ST o forear ?
(A) wez g

(B) = g

(C) TR fom

(D) . 3. &

e Fiefrer
(A) ggi-am
(B) Tafthferfess
(C) &

(D) HEHIfEw

_ FIeER |

135.

136.

137,

138.

139.
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mfi 3, _ &), W % 91
RIiHa R o =i & Tl R Be |
(A) T

(B) dehfce

(C) fafsme

(D) fasrean

ST 1 JeeT] ST o yeRIfST
BAT |

(A) 1811

(B) 1812

(C) 1813

(D) 1810

e, B ot il oik
forgeral T < fou a1l Teeri @ |
(A) FEeT s

(B) 39

(C) wr=fTer 3iufy

(D) <=t

Fefean e o 1 9eel 9w T
IR BT |

(A) 1810
(C) 1811

(B) 1812
(D) 1813

CH 2, S oo vear & 9
Th I8 T |

(A) =afad

(B) HeEcaqul 317

(C) afes

(D) I
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140.

141.

142,

143.

144,

_______ the dose only when
improvement ceases.

(A) Stop

(B) Repeat

(C) Decrease
(D) Increase

Which part of the plant is used to prepare
the Homoeopathic drug ‘Opium’ ?

(A) Seeds inside poppy
(B) Gummy juice of poppy
(C) Whole plant

(D) Roots

Which among the following is the
common name of Aegle marmelos ?

(A) Boneset
(B) Brahmi
(C) Bael
(D) Onion

Thin layer chromatography works on
the principle of

(A) Absorption

(B) Adsorption

(C) Partition

(D) None of the above

Evaluation of drugs by means of colour,
fracture etc. is termed

evaluation.

(A) Physical
(B) Organoleptic
(C) Microscopic
(D) Biological

145.

146.

147.

148.

149.

00 A 0 0

In fluorescence analysis, Berberine
imparts which colour ?

(A) Yellow
(B) Light blue
(C) Orange
(D) Green

Which is the instrument used to measure
specific gravity ?

(A) Refractometer

(B) Polarimeter

(C) Colorimeter

(D) Pyknometer

Which among the following is a plant
nosode 7

(A) Malandrinum
(B) Psorinum
(C) Variolinum
(D) Nectrianinum

Generally, plant drugs should be
collected

(A)
(B)

During the morning dew

Just before the disappearance of
the morning dew

(C)

Just after the disappearance of the
morning dew

(D)

Any time

Pulsatilla nigricans belongs to which
family ?

(A) Ranunculaceae

(B) Loganaceae

(C) Compositae

(D) Liliaceae
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152,
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Lachesis was proved by
(A) Hahnemann

(B) Kent

(C) Boenninghausen
(D) Hering

Each testis begins to descend during

the month of intra uterine

life.

(A) 5t (B) 2nd

(C) 7h (D) 6t
Pineal gland secretes

(A) Insulin (B) FSH
(C) Vasopressin (D) Melatonin

Both excitatory and inhibitory
neurotransmitters are present in the

(A) CNS

(B) PNS

(C) Both (A) and (B)
(D) None of the above

The plexus is the largest
autonomic plexus.

(A) Brachial (B) Celiac

(C) Renal (D) Hypogastric

The lining epithelium of the
is called as pneumocyte.

(A) Pharynx
(B) Larynx
(C) Alveoli
(D) Oesophagus

-28-

156.

157.

158.

155K

160.

0O 0 AN

The lymph vessels from the small
intestine is finally drain into

(A) lliocolic lymph nodes
(B) Inferior mesenteric nodes
(C) Superior mesenteric nodes

(D) Intermediate colic nodes

Wernicke-Korsakoff syndrome is a
deficiency of

(A) Thiamine
(B) Riboflavin
(C) Niacin ‘
(D) Folic acid

Alkalosis is when the pH is more than
(A) 7.62 (B) 7.72
(€) 7:52 (D) 7.42

Optic nerve is
(A) Motor

in nature.

(B) Sensory
(C) Both

(D) None of the above

Hyper secretion of causes

Cushing’s syndrome.
(A) Glucocorticoids
(B) Aldosterone
(C) Cortisol

(D) Insulin
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The effort of the body to through
away offending substance is called

e action.
(A) Mechanical

(B) Dynamic

(C) Chemical

(D) None of the above

Which branch of Pharmacology deals
with the physical characteristics and
botanical source of crude drugs ?

(A) Pharmacognosy
(B) Pharmacodynamics
(C) Pharmacokinetics
(D) Pharmacopedics

Which among the following is a
glycoside ?

(A) Aloin

(B) Digitalin

(C) Both (A) and (B)

(D) None of the above

Which among the following plant families
produce gums ?

(A) Leguminosae

(B) Rosaceae

(C) Both (A) and (B)
(D) None of the above

Strychnine is the phytochemical
present in

(A) Aconite
(C) Nux vomica

(B) Belladonna
(D) Stramonium

-30-

166.

167.

168.

169.

170.

0O R

During Homoeopathic drug proving of
narcotic drugs, which action is recorded ?

(A) Primary action
(B) Secondary action
(C) Both (A) and (B)

(D) None of the above

Who advocated the necessity of drug
proving before Hahnemann ?

(A) Albrecht Von Haller
(B) J.T.Kent
(C) Pierre Schmidt

)

(D) Earnst Stapf

Drugs which cause contraction or
shrinkage of tissues or diminished
exudations or secretions are called

(A) Carminatives (B) Ecbolics

(C) Mycotics (D) Astringents

The amount of drug that produces a
therapeutic response in 50% of subjects
taking it, is called as

(A) LD 50 (B) LM 50
(C) ED50 (D) C50

Which among the following drugs is not
a mydriatic ?

(A) Belladonna
(B) Cinchona
(C) Hyoscyamus

(D) Gelsemium
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173.

174.

175.

Good manufacturing practices pertaining
to Homoeopathy is mentioned in which
schedule of Drugs and Cosmetics Rule,
1945 ?

(A) B—1
B) H=—1
(C) M—1
(D) R—1

The purchase and sales records of
biochemic tissue remedies in tablet form
shall be maintained by the dealer for a
minimum period of

(A) 1year

(B) 3years
(C) Syears
(D) 10 years

A licensee whose license has been
cancelled may appeal to

(A) Licensing authority
(B) State government
(C) Central government
(D) President

The Narcotic Drugs and Psychotropic
Substances Rules, 1985 repeals which
among the following ?

(A) The Central Opium Rules, 1934
(B) Drugs and Cosmetics Rules, 1945

(C) The Drugs and Magic Remedies
Rules, 1955

(D) The Patent Act, 1970

The Pharmacy Act came into force on
(A) 26 January 1950

(B) 12 May 1988

(C) 14 November 1985

(D) 4 March 1948

0 OO O A

176. Which among the following conditions
is notincluded in the schedule of Drugs
and Magic Remedies (Objectionable
Advertisements) Act, 1954 ?

(A) Appendicitis
(B) Cancer
(C) Chickenpox
(D) Epilepsy

177. A price fixed by the Government for
Scheduled formulations in accordance
with the provisions of The Drugs (Prices
Control) Order, 2013, is called as

(A) Ceiling price

(B) Maximum retail price
(C) Retalil price

(D) Margin to retailer

178. According to The Medicinal and Toilet
Preparations (Excise Duties) Act and
Rules, ‘rectified spiritt means plain
undenatured alcohol of a strength not
less than

(A) 50° under proof
(B) 50° over proof
(C) 60° under proof
(D) 60° over proof

179. Where is the definition of Homoeopathic
medicines mentioned in Drugs and
Cosmetics Rules, 1945 ?

(A) 2dd (B) 67EE
(C) 73AA (D) 85EA

180. Which rule in Drugs and Cosmetics
Rules, 1945 deals with standards of
Homoeopathic ophthalmic preparations ?
(A) 76 A
(B) 126 A
(C) 85A
(D) 108 A

SR
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182.

183.

184.

185.

Time is an important criterion in
(A) Marketing Mix

(B) Product Mix

(C) Price Mix

(D) Promotion Mix

‘Prices-off’ is an example of sales
promotion targeted to

(A) Traders (B) Doctors

(C) Consumers (D) Salesmen

Properties that are the sum of labour,
material, overheads and other costs
required for producing that object is
called

(A) User Value

(B) Exchange Value
(C) Esteem Value
(D) Cost Value

Which one of the following is not
included in distribution channels ?

(A) Wholesales
(B) RMP
(C) Retailer

(D) Consumer

Causticum Q is preserved in
(A) Alembic glass bottles
(B) Amberic glass bottles
(C) Gutta purcha bottles
(D) Actinic glass bottles

186.

187.

188.

189.

190.

-34-
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Which one among the following drugs
should be preserved separately ?

(A) Arnica Q

(B) Rauwolfia serpentina Q
(C) Berberis vulgaris Q

(D) Camphor Q

Which part of Drugs and Cosmetics Rule,
manner of labelling of Homoeopathic
medicines are given ?

(A) PatlVA  (B) PartVIA
(C) PartVIIA (D) PartIXA

In which form the licensee of
Homoeopathic medical store should
maintain the inspection book ?

(A) Form 35

(B) Form 20 C
(C) Form20 E
(D) Form 19 B

Homoeopatihic medicines containing
12% alcohol vol/vol shall be packed and
sold to hospitals not more than

(A) 1000 ml
(B) 450 ml
(C) 100 mi
(D) 30 ml

Duration of sale licences of Homoeopathic
Medicines is

(A) One year
(B) Two years
(C) Three years
(D) Five years
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192.

193.

194.

195.

Which one of the following is an essential

factor in determining the potency of

Homoeopathic medicine ?
(A) Body weight

(B) Body surface area
(C) Susceptibility

(D) Sex

The drugs which resembles each other
but will not follow each other are

(A) Inimicals

(B) Concordants
(C) Antidotes

(D) Complementary

Preferred route of drug administration
in Idiosyncratic patients

(A) Oral

(B) Olfaction
(C) Inunction
(D) Enepidermic

Whatis the meaning of Latin abbreviation
‘Ad lib’ in prescription ?

(A) For external use

(B) Water _

(C) To the desired amount

(D) Drink

A

‘Physician’s Order Sheet’ is associated
with

(A) OP prescriptions

(B) IP prescriptions

(C) OTC prescriptions

(D) Drug store

000 O O

196. Which of the following medicines should

not be dispensed below 6X potency as
per HPI ?

(A) Arsenicum album
(B) Baryta carbonicum
(C) Lachesis

(D) Uranium nitricum

197. Which is the second-best remedy ?
(A) Polycrest medicine
(B) Constitutional medicine
(C) Miasmatic medicine
(D) Nihilinum

198. Medicine which act on'ganglionic
nervous system

(A) Arsenic album
(B) Baptisia

(C) Belladonna
(D) Chamomilla

199. Factors responsible for repetition of
doses except

(A) Condition and progress of the
patient

(B) Physical constitution of patient
(C) Nature of disease
(D) Nature of remedy

200. Indicated medicine is
(A) Drug
(B) Similimum
(C) Remedy
(D) Genuine medicine
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IMPORTANT INSTRUCTIONS TO CANDIDATES

Seeari o foTg Hexagut S1HewT

12
13

14.

15.

17.

18.

19.

. This booklet contains 40 pages.
. Please check all the pages of the Booklet

carefully. In case of any defect, please ask the
Invigilator for replacement of the Booklet.

Directions : Each question or incomplete
statement is followed by four alternative
suggested answers or completions. In each
case, you are reguired to select the one that
correctly answers the question or completes the
statement and blacken (@) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen against
the question concerned in the Answer-Sheet.
(For V.H. candidates corresponding circle
will be blackened by the scribe)

Mark your answer by shading the appropriate circle
against each question. The circle should
be shaded completely without leaving any
space. The correct method of shading is given
below.

Wrong Method

O®00O

Wrong Method

QYOO

Wrong Method

Q@O0

Correct Method|

0800

The Candidate must mark his/her response
after careful consideration.

16. There is only one correct answer to each
question. You should blacken (@) the circle of
the appropriate column, viz., A, B, C or D. If you
blacken (@) more than one circle againstany one
guestion, the answer will be treated as wrong.
If you wish to cancel any answer, you should
completely erase that black mark iri the circle in
the Answer-Sheet, and then blacken the circle
of revised response.

A machine will read the coded information in the
OMR Answer-Sheet. In case the information is
incomplete/different from the information given
in the application form, the candidature of such
candidate will be treated as cancelled.

Use the space for rough work given in the Question
Booklet only and not on the Answer-Sheet.

You are NOT required to mark your answers
in this Booklet. All answers must be indicated
in the Answer-Sheet only.
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